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Question Number : 1 Question Id : 715053766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

According to Chomsky. the process of understanding the rules of one’s own
language 1s
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Options :

Conscious, acquired and environmental
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Deliberate, forceful and induced

Unconscious, innate and neurological
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Question Number : 2 Question Id : 715053767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Heredity and environment contribute to individual differences in fraternal
twins in this way
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Options :

Neither heredity nor environment contribute in the same way
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Both contribute in the same way
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Heredity contributes in the same way whereas environment contributes
differently
B0H08EE e8P &P Hthéod 5o0 HBSTren H¥ o &R HEseon

3. %
Environment contributes in the same way whereas heredity contributes
dafferently
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Question Number : 3 Question Id : 715053768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Process of Learning involves 'perceiving the situation as a whole’, according to
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Behavigurists
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Question Number : 4 Question Id : 715053769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following 18 NOT a feature of Project based learning?
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Inquiry based
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Question Number : 5 Question Id : 715053770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Change 1 behaviour’ 1s the predominant aspect in the definition of
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Question Number : 6 Question Id : 715053771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



‘A teacher should have knowledge and understanding of various diversities

among learners’, 1s the educational 1mplication of this principle of growth and
g I P P E

development
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Options :

Development is predictable
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Principle of individual differences
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Principle of developmental direction
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Jsvdo arrdso Dof D850 B aridiod
0 g
4, %

Question Number : 7 Question Id : 715053772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The psycho social conflict of ‘Industry vs. Inferiority’ according to Erickson

belongs to this stage of development
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Later childhood
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Question Number : 8 Question Id : 715053773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

According to Kohlberg, most of the individuals do NOT attain this level of

moral development
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Pre conventional
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Super conventional
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Question Number : 9 Question Id : 715053774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Teaching 1= said to be very effectively planned when
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Options :

Needs of at least fifty percent of students are targeted
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Usage of only textbook 1s practiced
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Framing of the objectives after the completion of lesson
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All the children in the class are engaged in the process of learning

B8RS Doestheotir 5o HBOHS® g 8

4. .



Question Number : 10 Question Id : 715053775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From the following examples, identify the one that CANNOT be considered as a

behavipural problem of child
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Options :

Santozh 1s a third grade student. He is leaving home daily in the morning

to school but attends school on only few days
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Ravi is a Sixth grade student. He will have breakfast daily but tells the
teacher that his mother didn't give him breakfast
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Mohan 1s a child with motor disability. He did not draw the diagram given

by the teacher properly.
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Rakesh 13 a fifth grade student. On seeing less marks in his exam paper he

has torn the paper to pieces.
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Question Number : 11 Question Id : 715053776 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an inclusive set up, teacher should
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Options :

Make some students as leaders and let them play the role of teacher to
reduce his /her burden
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Have a flexible plan with multiple and diverse activities to support all
students to achieve the expected learning outcomes
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Set different learning outcomes for first generation learners
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Insist on completion of tasks by all children in the given time
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Question Number : 12 Question Id : 715053777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Raju's mother asked him whether he would go to his cousin’s house or come
along with her to his grandparent’s village. Raju likes both the options and was
caught in a conflict. The conflict faced by Raju 1s
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Approach — Approach conflict

Avoidance — Avoidance conflict

20BY — HBFE 2 }qutjﬁ“il

3. %
Avoidance — Approach conflict
200 - &t Hoandes

4. % s

Question Number : 13 Question Id : 715053778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following is a characteristic of ‘Infancy stage’
Bob 8" 2568 '3ES 5% G, ofmo

Options:

Good writing skill



Controls emotions
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Question Number : 14 Question Id : 715053779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s a major concern In student’s assessment
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Integrating teaching — learning and assessment
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Limiting to the practice of Textbook based evaluation
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Adequate opportunity to assess creative skills
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Diversified methods of assessment
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Question Number : 15 Question Id : 715053780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One of the following 1s NOT a ‘Law of Learning’ given by Thorndike
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Question Number : 16 Question Id : 715053781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the INCORRECT pair from the following
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Options :
Gestalt - Koffka
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Observational - Bandura
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Behaviourism - Kohler
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Question Number : 17 Question Id : 715053782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A boy who associated the sound of a motor bike with the coming of his father
has learnt that not always his father 1s coming at the sound of the motor bike.

This 1s an example of
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Extinction
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Stimulus generalization
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Spontaneous Recovery
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Question Number : 18 Question Id : 715053783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the example of Intrinsic motivation
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Options :

A girl who is very polite with others as her father feels proud of her

behaviour
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A girl who joined music classes as her friend wanted a company
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A gir]l who always keeps drawing different pictures as she loves drawing
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A gir]l who took up a job to keep her family happy
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Question Number : 19 Question Id : 715053784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Non-interfering leadership is
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Options:

Autocratic leadership
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Laissez—faire leadership
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Dominant leadership
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Authoritative leadership
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Question Number : 20 Question Id : 715053785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A child who has trouble with mathematics related skills is said to be having this

type of learning disability
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Question Number : 21 Question Id : 715053786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following does NOT help in motivation of an individual
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Ambiguity in goals
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Readiness to learn
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Question Number : 22 Question Id : 715053787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following feature is NOT correct about personality
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Self conscigusness
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Question Number : 23 Question Id : 715053788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to RTE Act, 2009, the academic authority while laying down

curriculum and evaluation procedures should consider one of the following
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Learning through lectures and examinations
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Pass board exam at the end of Primary level mandatorily
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Question Number : 24 Question Id : 715053789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Piaget, children of this stage think that all things are living
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Pre-operational

Concrete operational

Formal Operational
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Question Number : 25 Question Id : 715053790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The minimum age limit suggested i NCF. 2005 for admission into Vocational
Education and Training (VET)
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Question Number : 26 Question Id : 715053791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to Social Development during later

childhood

&80 epey 58S Jrolnd Deardd Bomobodd nﬁf)% 8,085 3 DBoPod

=)
Options:

Children want to be dependent on elders
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This age 1s referred to as ‘gang age’
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Boys and girls are attracted to the opposite sex
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Question Number : 27 Question Id : 715053792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Snellen’s chart identifies
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Question Number : 28 Question Id : 715053793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Albert Bandura’'s Learning Theory is known as
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Self — theory
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Question Number : 29 Question Id : 715053794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. identify an intrinsic stimulus
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Thirst
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Question Number : 30 Question Id : 715053795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For transaction of a lesson. a teacher has to consider
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Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 71505342
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 715053796 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 715053797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 715053798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 715053799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 34 Question Id : 715053800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 715053801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2

Sub-Section Id : 71505343



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 715053802 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 715053803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 715053804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 715053805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 39 Question Id : 715053806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 715053807 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 71505344
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 715053808 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 715053809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 715053810 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 715053811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 715053812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 715053813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 715053814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 715053815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 715053816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 715053817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number

3

: 51 Question Id : 715053818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number
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: 52 Question Id : 715053819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 715053820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 715053821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 715053822 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 715053823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 715053824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 715053825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 715053826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 715053827 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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NUIT
4. %

Language II English

SectionId : 71505328
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 71505345
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 715053828 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the guestions from 61-65. Choose the correct option

for each guestion.

Delhi 15 one of the most polluted cities in the world. All the 37 air quality monitoring stations
across Delhi recorded the air quality in the severe category on Friday moming Bawana was the
most-polluted area with an AQI of 497, followed by Delli Technological University (487),
Wazirpur (483), Anand Vihar (484) and Vivek Vihar (482).

Neighbouring Ghaziabad was the most-polluted city in the country, with the levels of PM2.5 -
tiny particulate matter less than 2.5 microns that can enter deep into the lungs reaching as high as
493 Greater Noida (480), Noida (477). and Faridabad (432) also breathed extremely polluted air.
An AQI between 0-30 15 considered "good", 531-100 "satisfactory”, 101-200 "moderate”, 201-300
"poor". 301-400 "very poor”, and 401-500 "severe". Above 300 15 "severe-plus or emergency
category.

Delhi 15 impatiently hoping for favourable meteorological conditions to blow away the toxic
air, as health experts said the hazardous air pollution has become a serious health concem for about
2 crore residents.

"Intake of every 22 miucrograms per cubic metre of polluted air 1s equivalent to smoking a
cigarette. So whether the PM2 .5 level 15 700 or 300 units, the impact 1s still as bad. People need to
take precautions, especially those suffering from asthma, bronchitis or other respiratory illness.”
satd Dr Arvind Kumar, lung surgeon at Sir Ganga Ram Hospital here. Weather experts said
increased wind speed due to a fresh western disturbance approaching the northem region would

help disperse pollutants faster from Saturday.

Sub questions

Question Number : 61 Question Id : 715053829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement.
Options :

Intake of every 22 micrograms per cubic metre of polluted air is equivalent to smoking
1.« Aacigarette.

o Ghaziabad was non polluted city in the world.

Increased wind speed due to a fresh eastern disturbance approaching the western region

3 % would help disperse pollutants.



As per the passage. Delhi is not a polluted city.

Question Number : 62 Question Id : 715053830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the word from the passage which means ‘poisonous’.
Options :

SEVere

. meteorological

toxic

cubic
4, %

Question Number : 63 Question Id : 715053831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the passage. the abbreviation, “PM” stands for

Options :

particular matter
1. %



particulate matter

participatory matter

4. % pf’.‘l"':-OIlﬂl matter

Question Number : 64 Question Id : 715053832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The antonym of the word “disperse™ 1s
Options :

cather

o disseminate

3 % distribute

diffuse
E

Question Number : 65 Question Id : 715053833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As per the passage. who 1s Dr Arvind Kumar?

Options :



a dental surgeon at Sir Ganga Ram Hospital. New Delhi

1. %

> % @ general surgeon at Sr1 Ram Hospital. Mumbai

3 % 2 heart surgeon at Sir Ganga Ram Hospital, Mumbai

4@ B lung surgeon at Sir Ganga Ram Hospital. Delhi
Sub-Section Number : 2
Sub-Section Id : 71505346
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 715053834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The police shot dead a man accused murdering the aged couple i the suburb of the

city.

Options:

of

1.4

with

over

mto



Question Number : 67 Question Id : 715053835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

His health was attected by the thought of losing his son.
Choose the correct option to complete the sentence.
Options :

“ adversive

adverse

adversingly

adversely

Question Number : 68 Question Id : 715053836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The senior police officer headed the

The option that can complete the sentence 1s

Options :

investigate

mvestigation
5 g



. lnvestigated

4 % investigates

Question Number : 69 Question Id : 715053837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The worker. though old. 1sstill ~ member.
Options:

1 & 8 union

an 1nion

the union

4 % union

Question Number : 70 Question Id : 715053838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The victim’s mother ran a beauty parlour in the area.

Identify the part of speech of the word ‘ran.”

Options :



1 % adverb

1101111

3 verb

adjective

Question Number : 71 Question Id : 715053839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :

guareniec

gaurantec

guarantie

guarantee

Question Number : 72 Question Id : 715053840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct Passive Voice sentence for the given sentence.

‘Hong Kong has passed new security laws’,

Options :

| % New security laws had been passed by Hong Kong.

5 % New security laws has been passed by Hong Kong.

3 @ New security laws have been passed by Hong Kong.

4 % New security laws has being passed by Hong Kong.

Question Number : 73 Question Id : 715053841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

was his hobby since his childhood’.
Choose the correct option to complete the sentence.
Options:
Going a long walk

1. %

5> Gomg for a long walk

3 % Went for long walk

4 % Gone for a long walk



Question Number : 74 Question Id : 715053842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The merchant purchased  one hundred sheeps.
A B C D

Options :

'I.w‘;jk

Question Number : 75 Question Id : 715053843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

His father never comes to her rescue.

Choose the correct question tag.
Options :

1 % didn’the?

doesn’t he?

3 does he?



did he?
)

Question Number : 76 Question Id : 715053844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the appropriate word to complete the sentence.

A: Why did the businessman attend the court?

B: He was 1ssued to attend the court.
Options :
SUNUNONS
1.9
SUNUMOon
2.
SUNUNONING
SAMIMOons

Question Number : 77 Question Id : 715053845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the subseription which 1s NOT appropriate for an informal letter.
Options :

Yours lovely
E



Yours affectionately

i Yours lovingly

Yours simncerely
4.¢

Question Number : 78 Question Id : 715053846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Had he taken care of his parents, he them”.

Choose the correct option to complete the sentence.
Options :

had saved

could have saved

3. % could has saved

4. % could had saved

Question Number : 79 Question Id : 715053847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

“The High Court expressed dismay over diminishing natural habitat as a result of pollution.”

Identify the antonym for the word “diminishing.”
Options:

1 % reducing

5 % declining

enhancing

il

shrinking
4, %

Question Number : 80 Question Id : 715053848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct combined sentence.
A: Ramesh was intelligent and hardworking.

B: He failed in the examination.
Options:

Ramesh was intelligent and hardworking, so he failed in the examination.
1. %

5> Though Ramesh was intelligent and hardworking. he failed in the examation.

Ramesh was intelligent and hardworking. hence he failed in the exanunation.



. Hence Ramesh was intelligent and hardworking. he failed in the examination.

Question Number : 81 Question Id : 715053849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct reported sentence.

The student asked the teacher. “Could you please explain the lesson once again.”

Options:

The student requested the teacher to explain the lesson once again.

The student asked the teacher if he can explain the lesson once again.
2. %

w The student requested the teacher that he could explain the lesson once again.

The student requested the teacher to please explain the lesson once again,

Question Number : 82 Question Id : 715053850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is the silent consonant letter in the word “plumber’?
Options :

1.% P



m

Question Number : 83 Question Id : 715053851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT option.

Options :

a gang of robbers

a band of musicians

a bunch of people

a hand of bananas
4, %

Question Number : 84 Question Id : 715053852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Choose the correct option in which the jumbled words are ordered.

1s/ shortcut/success’ Hard work / for/ the only
Options :

1% Success 1s the only shorteut for hard work.

Hard work 1s the <horteut only for success.

Hard work 1s the shorteut for only success.

4 Hard work 1s the only shortcut for success.

Question Number : 85 Question Id : 715053853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Language as a means of investigating reality, a way of learning about things that are using
language to learn and to discover.

This language function 1s called

Options:

_— The Imaginative Function.

The Heuristic Funetion.
2.

3 % The Representational Function.

. The Interaction Function.



Question Number : 86 Question Id : 715053854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This validity means. the required activities/tasks by the test are appropriate for the

measurement and evaluation

Options :

Face Validity

" Operational Validity

Content Validity

. Factoral Validity

Question Number : 87 Question Id : 715053855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A language that 1s adopted as a common language between speakers whose native languages
are different 1s called

Options :

“ Dhalect

Sociolect
#®



Accent

Lingua franca
4, & =

Question Number : 88 Question Id : 715053856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Suitable structural patterns and rhyme scheme’. This is a feature of the following

Options :

Letter
)

Debate

Essay

Poem

Question Number : 89 Question Id : 715053857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The major component of paradigm shift in second language teaching 1s
Options:

Connect the school with the real world and use as means for promoting holistic

1 « learning.



Acknowledge the importance of drills rather than meaning

Learning 1s to be viewed as something done to prepare for an examination rather than a

3 % lifelong process

Shifting from process oriented facilitation to product oriented teaching

Question Number : 90 Question Id : 715053858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The teacher creates a learning environment where students are encouraged to explore and
become active participants in their educational experiences.

This approach is known as
Options:

Grammar translation approach
, Constructivist approach

2.

Content and language integrated approach

Structural approach
4.% o

Mathematics



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
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Question Number : 91 Question Id : 715053859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A man runs '?E meters in 1 second, then the distance (in kilometres) he runs in

18 minutes 1=

Options :

71505329
4

Online
Mandatory
30

30

30

Yes

0

1
71505347
Yes

null



o
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Question Number : 92 Question Id : 715053860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A mobile phone company fixed the price of a mobile phone as 92.500. A customer

purchased a mobile phone on which he paid 18% GST additionally, then the purchase

price of mobile phone (m rupees) including GST 1s:

W) 4028 rdh 2086 £FS Bend 792,500 e ?J--:tjr_mc:-:’-"eﬁ:. i

AE oRE L omm WL g Q IR e
0 gffm o0 5 r\,-"_lﬁl-. &010R GbT & 50u faN Al

1,09.150
75,850

1,08,500

3. %

07.640

Question Number : 93 Question Id : 715053861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



AABC is an 1sosceles triangle with AB = AC = 4y2 em and BC = 8 em. The height
AD from A to BC iz 4 cm, then the height CE from C to AB (in centimetres) 1s:
AABC @558, AB = AC = 442 20.5. %86 BC = § 208y, Foderr fo o
SdoBer @heo. A Sof BC 28 Achals J& AD = 4 0.0, wond C S0é AB 28
Adhads CE 28 (Rodded o).
Options :

'I.322

Question Number : 94 Question Id : 715053862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The x-coordmate of the point of intersection of the two ogives drawn for a given

grouped data gives:

L A £ nd ad " S g o = R T oo [ Y A e
2.5 $08y8 Berodo GnE) Gotd e.éa SEgren HB o PoloER) Hoth) s,
4 > - T

X - A8rado B Seniod.
Options:
the range of the data

. SEodo NG e
1. - T



the mean of the data

O"‘-' O O I:‘J\.xzé cﬂ :'-DC-.J.-‘IJ..:' ?.—u;.—u.a

the mode of the data

3. %
the median of the data
Garodo NG oM
4. = e =

Question Number : 95 Question Id : 715053863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
fP={x:x=3n*-1,-4<n<4nei}
@= {x:xisaprime numberand 1 < x < 20}, then n(PN Q) =
=fxx=3pf ~ 1. 4=n=4ne i}
Q= {x: x 2.8 Hrrd Dog; $Baml < x < 20}, wond n(P N Q) =

Options :



Question Number : 96 Question Id : 715053864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the pair of linear equations x — ky = 8 and (2k + 1)x — 3y = 16 are inconsistent,

then the value of k 1s:

X —ky = 85686 (2k + 1)x — 3y = 16 306 $&88me ad wbolid S5l vond

k Ging) Dens:

Options :

1.4 1

L]

Question Number : 97 Question Id : 715053865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
(64)1 x 27 x (81)%a x (¥2)° x (27)1 =
Options :

. % 108



Question Number : 98 Question Id : 715053866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A letter is chosen randomly from English alphabet. then the probability of selecting

a letter that comes before the letter I 1s:

Question Number : 99 Question Id : 715053867 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An elevator descends into a mine shaft at a constant rate. If the descent starts from
15m above the ground level, then it reached —285m in one hour, then the rate of
descent per minute (n meters) 1s:

5 1S Qo DDl 2030 &Y Jiiod” SobS BbE0d. i E) 150, I

i~
=TT

. v T . B85 By K g VLo A L n
ol 2dhen 008D LOaeHh _285 ald. 220 Iculi\ ot % Hok endio Hiooh, ®ond

Options :

4

Question Number : 100 Question Id : 715053868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A verandah of 3 meters wide i= constructed all arpund a room of dimensions
18m x 12.5m, then the area of the verandah (in sq. meters) is:

18%. x 12.5 &b. Soden Ho o8 16 Sar 3 . Doy Ko Sor Both. eod Sow

Options :



444

100.5

Question Number : 101 Question Id : 715053869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IfF0° < 8 <90, then(1 + cot?8)(1 — cosB8)(1 + cosf) =

0° < 6 <90, @owd (1+cot?8)(1—cosh)(1+cosd) =

Options :

1.«'-«*’l

)

[

Question Number : 102 Question Id : 715053870 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The maximum number of consecutive composite numbers between 1 and 100 is:
Sools 100 b He 118:] 850 Soding Sogre Sogy:

Options :

3

Question Number : 103 Question Id : 715053871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the radius of a cylinder 1s doubled keeping its volume the same, then the change

occurred in the height of the new cylinder is:

- [ gl 3 Ind r
Y T R V- AV 0 Sy S G P SV SN P IY R = e o S
e P 0d0 QJ.Ugé q.:.,-:\‘}o]Oc-.:.," £30 o POB0TE TR a7 r-,--’:?c;u:j C80o) Tiod TPl ofF CL Jends” 50N -:-.JED.:L.
& ¥ [ - B —= ] =i

Options :

one-fourth



half

double

=T e
OO0l
By

Question Number : 104 Question Id : 715053872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a quadrilateral with four sides of equal length from the following.

p = P
o 32 Rt T P T R A PR E= el I Pt = £
Bob r8O&” tholh P ertoay Ne Jreniy £heen 5o S J‘iﬁalﬁx&-”b_:: aJOTS O3,

(e x

Options :

Rectangle

£t e
% ° -_ﬁf&at:@;o
1. e

.a_’:l'.h
¥,

Parallelogram

L
NP o T To BT bTawit-le
3

Trapezium

i o ol EAE
oJe D@0 L:'R'fl,:_' 230
gl

4. &



Bhombus

Question Number : 105 Question Id : 715053873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose an INCORRECT statement from the following.

(Eob arE” 3057 aryEyin 2008 0k,

Options :

If A and B are any two non-empty sets, such that BC A, then A UB = A,

B C A wah dijore A, Ben 23R Cotd draat Habden wond A UB = A.

If A and B are any two non-empty disjoint sets, then A N B = 0.

A, Ben O3 80D dra88 Dongsihdes wond A NB = 0.

If X = {x : x is a positive even integer and x < 10}, then {2,4,6,8,10} € X.

X = {x : x &8 &% %0 Fron; HOA x < 10}, wows {2,4,6,8,10} € X.

If P = {x : x is aletter of Telugu Varnamala}, then P iz a finite zet.

P = {x : x o8 3enlD 58P ©550}, woui P o8 %050 08,

Question Number : 106 Question Id : 715053874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The points (1,7), (4,2),(—1, —1)and(—4, 4) taken in order form the vertices of a:

. PORE , . T _
fothden (1,7),(4,2), (-1, —1)58am0(—4, 4)en H&55m 808 doren @@ on:

=2

Options:

Rhombus

Square

oL sl nd
L6000

2. %

Rectangle

£ o o w® a
80 Sedeso

Parallelogram

et S
rePoE0 Deutnea0
s

Question Number : 107 Question Id : 715053875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If = 5 + 2¢/6. then x +i =

x=5+2V6mond x + 1 =

X

Options:



[
A

10

Question Number : 108 Question Id : 715053876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Two men on either side of a tower observe its top at the angles of elevation 60" and

30° respectively and the distance between the two men 1s 80 V3 meters, then the

height of the tower (in meters 3 18

T T T AT A o o O o R b
2.5 ON0 @ FPrPd), TP Blgaer W) & Tated 83 -u o 60" 586 307 &8 Emred
p a o Qo
oo e i 2 T foy &g s i B E ek & o ok
08300 nodn @ ::.G )] :u_l =Y S c.:di-'I &rto SO\,‘S a83t0, @0 530 ol (anédd” )
i i =

o 60+ 3

Question Number : 109 Question Id : 715053877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Sum of 10 terms of the progression V3,V12,V27,1/48, ... ..... 1s:

\,"'g, \,"E, 27, xﬁ SRR |§f’ﬁ -fudé 10 S dndo:
Options :

| % 110V3

Question Number : 110 Question Id : 715053878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are four unknown numbers. The mean of the first two numbers 18 8.5 and the

mean of the first three is 11. The mean of all four number 15 13.25, if one of the four

numbers 1s 10, then the median of these four numbers 1s:

o e
HL,' "?JP_.ijir u:\, "lm E.uuﬂ \.‘O[R'Op 0*6 S.:} C\'E',J ol P L.a 3'0 P8 h,._l Ll 'f'_'"w ClE

o

o813.25 580 @ doged® 28810 @ond & grentd Sopre Siyidm:
Options :
1_ 33 J.O

13
2. ¥



Question Number : 111 Question Id : 715053879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The sum of the three numbers 13 612. If the ratio of the first number to the second

number 1z 3 : 4 and that of the second number to the third number 15 5 : 4, then the

greatest number among them is:

S Hogpe Sndo 612, dndd HBcn Totld Homwe Jd 3 : 4. Cotls) Hdd srEs

- e

L e (L - ; e 5 ::-f-':.f.,f,_c =
ROFre dJay@ S : 4 wong, PLd hf.?&.;s';- 08!

Options :

. 102

180

Question Number : 112 Question Id : 715053880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Read the following statements related to complementary angles and choose the

correct statement.

Options :

Each angle in any pair of c@mplementary angles 1s always straight angle.

SPE Blere extiest Bl S0 Ses e e eah @Siob.

Each angle 1n anv pair of complementary aneles 12 alwavs gbtuse angle.
g VP P 3 g ) g

a

s Sere adst 1298 B%s0 et 2B%5nm oddoh.

Each angle in any pair of complementary angles iz always right angle.

o -

rtE Bhere 286° (58 BP0 Jedir vonsnd 8dHob.

3

Each angle in anv pair of complementary angles 15 alwavs acute angle.
g yp P b g A g

-

SriE Bhere msdt Boés B a0 DO e S ead  wddod.

4.+

Question Number : 113 Question Id : 715053881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If a, B are the zeroes of the polynomial x* — 5x + 6, then == F =
278 X% — 5x + 6 G Wrwrien @, f en D WONB — = +E =
Options :
E
1. g 12



@ | e

13
36

[

Question Number : 114 Question Id : 715053882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In AXYZ, right angle1sat Z, sinY = 2. then cosY +sinX =

o £ e z o 20 . 3 A
Z 58 vond’ao 505 AXYZ &°, sinY = g D00 cosY +sinX =
Options :

21
1 % 29

42
29

40
29

41
29

Question Number : 115 Question Id : 715053883 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the characteristics of “aims of learning mathematics™ among the following:
Bob TES K 257198 FE}@-‘U& ofsrod hBool:
A)  These are very broad and comprehensive.
82 PP D8N sBain Siahia.

B) It may take one year or more time to obtain expected outcomes of these 1

mathematics.
808" 28 @dold P FPolitrls Joidé) o wodtoll JEyH oo Hi),

C) These may not be easily observed or measured.
DA HoenHre H6800% BETFSD), Bor Fedts S5,
D) These expected outcomes can be obtained within a short time.
58 w8003 Hdaen Bﬁ;&;,aﬁazoé’gé SPotiSen.
Choose the correct answer:
508 sapod) Aol

Options :

A.B & Conly

A B & Cirsd
1.¢

B.C & Donly
B.C & D srEd

A, B& Donly

. A B& Dirgd

ABC&D



Question Number : 116 Question Id : 715053884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The phase in concept mapping where “students give new examples with the

knowledge gained in mathematics™ 1s:

2F
o

P ;o P o Fl i P & =B rd
o -— vt oo Baf 0D o P 0 ey a n o e -
e eedSIED NERGOD ol obi enof” FEn & Deen Aty §Mod
J = 3

Options :

Presentation of abstraction phase

L ;\,.{, e . =L
. 2. 0B5 ey OB D O
’l w —= ol e o

Propositional phase

2 -\.f_ - F o v,
GolemOn OO

Application phase

oy O
o

¥ T
cded TR0 B

Closure phase

R at -

=

Question Number : 117 Question Id : 715053885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following pairs related to “mathematics teaching learning material and

activities that can be done with them”.

#

e Pod .:_f LT . LY W ‘_:': 4 " £ TR Y o i o T ..'J
(igae & OaPdirnf & :-.J:'E:ﬁ. PEE DA F':_;'l;gl Lvaerey” B rJOcV'G{CﬁO?:Jé' €08 aded B0k,

£%

A)  Pegboard: Can show repeated subtraction is division.
B) Grid paper: Types of fractions can be taught.
. 2

C) Geoboard: Geometrical shapes can be shown.
2EPEG: eryRodoh eToR SRS,

D)  Abacus: Addition and subtraction of decimals can be taught.
e Sio: BTome Hoded, Sbomerh 3008k,

Choose the correct pairs / answer:

o T ) R4 ,-v-':l'L 3
208 eadden /esaenn) wotnBol:

Options :

A & D only

% A&Dirgd

A B SE C Glllj.'

, x AB&Cirgsd

B. C & D only
;% B.C&Dirgs

4w AB.C&D

Question Number : 118 Question Id : 715053886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Read the following statements related with teaching and learning plan:
ﬁﬁ?ﬁ;éi’: RerfE5 Domofolld Bob e SN0k
A) In the year plan, month-wise and unit-wise required teaching and learning
resources should be written.
TBY 555 U586 Jordmr, airdd O eSithal SUTHNS $ihel
rahHen Gotnod,

B) “Prior knowledge of the student for teaching the unit” 1s one of the aspect to

be covered m the unit plan.

P

e PV - N RV e A L R f__“\.!: oA o T
KPS D FoSwIs IBE sotdedid TBepdo”, @t CIrdE 506"
Sy ad ot B, R
Polhabd woded” 5.

Chooze the correct answer:

-
W [ TR T o o ¢ Y T
w0 fJDJFTmeC oJOtD5 00!
' 5

Options:

true and B 1= false

Ais
A {380 20Bain B edd:o

A 15 false and B 1s true

A eodéqo s0badm B Sdo

A and B are true

A 58cin B en 3&;0
3.¢

A and B are false

A $80in B en &80
4. %

Question Number : 119 Question Id : 715053887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“If the roots of 4x* - 3x + K = 0 are equal then K = ———————— ", This type of
question Is:

“Ar2 _3x + K =0 Sreren 3508308 K = - " 2h & 05500 ey
Options :

Objective type question

L L, T

ool licle] |odwd
1.4 E: !
.

Very short answer type question

oy uf P A
= - - e Ty - .
2les )OS0l ool L 0D (3]

i : :

Short answer type question

s ot £t
ol clodP P (o0
a = - (=8

i,
H

Long answer type question

A P o
e w e
EJ(:' 200 TP jod)y

4.% ¥

Question Number : 120 Question Id : 715053888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following topics of Algebra 1n sequential order based on their difficulty
and logical order, to introduce in different classes in the “Concentric Approach™.
80h Deii et womed “0f 2o & Seso” & D08 st Ic.mﬁ’lumé Vi) é.:.*ts SH0Bcm
56,8 Bano egrlorm Sy L_éé)oé"s 5 ojleled
A)  Powers and Exponents

B — @05 e
B) Polynomials

DaTathen
C) Basic algebraic concepts

riing Desriee cmden
D) Algebraic identities

£a50

aiiesd HUshE0emen

E) Simple equations

Options :

B.DAC.E

C.E,A DB
2. ¢

3 % C.E,.D.B A

E.BC.AD

Science



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
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Question Number : 121 Question Id : 715053889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As the comet approaches the sun, the length of the tail of the comet in size will
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Question Number : 122 Question Id : 715053890 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0
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The net force acting on the Mercury at rest in the Barometer is
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The boiling point of water at standard atmospheric pressure (1 atm) and Latent
heat of vapourization of water are resPectivelv
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Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The surface area of an object 1s 40 m? and a force of 20 N is applied on it, then the
resultant pressure is equal to
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The correct expression for the work done by the chemical force to move unit

positive charge from negative terminal to positive terminal of the battery
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Question Number : 126 Question Id : 715053894 Question Type : MCQ Option Shuffling : Yes Is
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In activity series. Metals are arranged in this order of their reactivity
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Instruction Time: 0
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Identify the fibre made up of polymers among the following
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The formula of Bleaching powder
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12 g of Carbon reacted with 32 g of Oxygen and formed 44 g of Carbon dioxide.
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Question Number : 130 Question Id : 715053898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Among the 1sotopes of an element. these differ in number
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Electronic configuration of the Chromium
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Bond length of H-N 1 NH;
NH; & H-N '::Tf;zé; 2ol Brdo
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Question Number : 133 Question Id : 715053901 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
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Using excess of fertilizers in order to get more quantity of crop turns the soil
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Question Number : 134 Question Id : 715053902 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The usually seen infections in crops,/ plants in the form of white, black. yellow,

brown spots or ﬂuffjr_r"pmrdm‘;' coating on leaves are caused by
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Question Number : 135 Question Id : 715053903 Question Type : MCQ Option Shuffling : Yes Is
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The first material that was experimented upon by Edison, to be used as filament

1n electric bulb was:
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Changing of milk into curd is due to the development of this bacteria
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Question Number : 137 Question Id : 715053905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
“Most of the today's life forms had variations that were accumulated over years to

allow them survive better”. This waz said by Charles Darwin in his book

r n Iy - n
e S o S B e L Rl o e B T ¥ LT (N E T SOy L VR
A6 258 Brapd” rep 505 oJeGIPED GolPyOl). €89 o .:-,'\,7_,_"3__‘?_;; E‘%C@E»_- SR EaloliTRelS
m e = o 4]

c n - = N

g WL M B T e o e e T e T =y ! -~ T ot P o gt =y g S N4

eI PHoNETPenP AN EPonS” ol D":Q'ﬁ:cc\ 0 60 S8 odied SO0 e ALY
LY -8 J

Options:

Journal of the voyage

E

- a3 @ B PGhE

The Decent of Man and the Selection in Relation to Sex
5 % & 808 8 r8 @l DTSR 35 BBTNR én VS

1e origin of species

Tt oin of sp

508 2825 s 555
xpression of the Emotions in Man and Animals

8 B D 85 wdraR a8 Srh @0k 8dHhé,

4 33 ) [¥, o
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Tissue that is responsible for transportation of water and salts from the roots is
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Xylem

Meristematic tissue
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Question Number : 139 Question Id : 715053907 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
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One of the following is NOT a characteristic feature of striated muscles.
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Thev have Uni nucleated eytoplasm
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Question Number : 140 Question Id : 715053908 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
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There are thousands of paddy varieties available throughout the world. Oryza

Glaberrima variety is cultivated in
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Question Number : 141 Question Id : 715053909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The vein which 1s at the anterior end of the right side of the heart and which
collects blood from the anterior parts of the body (head and neck) is
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The names for cropping seasons ‘Kharif’ and ‘Rabi’ are derived from this

language.
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Question Number : 143 Question Id : 715053911 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Whenever pollen grains enter our body, they cause allergy due to the presence of

these substances.
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Question Number : 144 Question Id : 715053912 Question Type : MCQ Option Shuffling : Yes Is
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In 1857, Gregor Johann Mendel started working on the problem of how variations

were passed from one generation to the other in —
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a space lab
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Question Number : 145 Question Id : 715053913 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0
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A student will be able to say that “wear only white, loose cotton clothes in

summer”. [t 1z related to

FHOE* B, Hhenr oG ire r?f-ﬁﬂﬁgﬁ‘fﬁ&mﬁoﬂﬁﬁgiim@
Doy h&,; baEtd. 36 B8 Hoo obiotnt

Options :

Application

Analvais

N

3 % TolEE

Evaluation

Srers0siso
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Correct Marks : 1 Wrong Marks : 0
The most appropriate teaching method to teach “Verify the formula for finding
the focal length of a lens”
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Learning the lesson ‘natural resources’ inculcates the following value in the

students.
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Types of renewable resources
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Identify the example for controlled experiment from the following

Options :

Do all hiquids boil at the same temperature?
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Effect of COVID pandemic on social development of children
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Does pyrethroids inzecticide help in inereased production of rice?
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Which of the following statements relating to comparison of micro teaching and

traditional teuching 15 correct?
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Traditional teaching is complex activity. micro teaching is relatively simple
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In traditional teaching the normal class size 1s 5 to 10 students, In micro

teaching it 1s 30 to 40 students
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In traditional teaching the duration of the period 15 45 to 50 minutes, In
micro teaching it 15 05 to 10 minutes
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In traditional teaching class 1s conducted 1n laboratory situation, in micro

teaching 1t 1s uncontrolled class room situation
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While working in a lab if by mistake a person inhales chlorine fumes, the person

should be made to smell
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